Plot of Hitomi Attitude Accuracy (STT ON/OFF)

- Image position

. stability

Ver. 3.5 16/09/20

- variation (1-sigma) of median 50 percentile (python “media_grouped”) at every 300 sec (crab 60sec)

exposure

- criteria: photon Number > 50 at each exposure (IGR_J and RXJ : photon Number >15)

. accuracy

- Image center determined by fitting with 2-dimensional Lorentz fitting at total exposure

- offset from simbad center to above center
- data : DET (non ATT corrected) and SKY (ATT corrected)
- plotted at (SAT-X) and -(SAT-Y) coordinate
- 4 pattern
1: STT-ALL (STT-ON/OFF)
- 2: STT-QV (STT_1_QVALID == 1 or STT_2_QVALID==1)
- 3: STT-CTL (See document “jaxa_hitomi_memo_2016-001.pdf”)
- 4: STT-OFF (STT_T1_QVALID == 0 and STT_2_QVALID==0)
- Comparison of 2 data/attitude file
1st (8/1) release data and ATT (current ATT)

- 2nd (9/E) release data and ATT (new ATT)

position error at each exposure
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